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Oops!  You do need to do this for the answer.
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Worksheet # 7 - question should be changed to quarterly payments in order to 
match answer (right now compounding and payments do not coincide)




2cc S
3D-cj

I’-DIt
—0I’

cY’-z-—-‘3
3flSJ93

(9
-0

00t.I

-1001’‘1
0

jr—.001)II

-b—r t0
C

o0Xi U
0 -4

q
0?

0

0
0)
Go

—Ic



Z
e
)

&
°
tJ

I
2—

‘1
lo

t

_

a
j7

0
0

I2
t3

ô
12

_C
O

2
o
o
i’

c
7

U
f

=
(
I
o
7
/

U



c.

0-
to—o fl

—

-r

0
C
0

I
z
IJ

L

E

f)

L

ii

Di Ce

0- 4
en 0j- —

0 0C

ONp n
ii L

--: e Qcc t

I’

03

C

t

4
H

Ii -

‘rW)

U
Ii

0

Into—

00

0d

4
1-




